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Quiz 1
You must show all work to receive full credit!!

Problem 1. (4 pts) Let ¥ = (—5,8,3).
(a) Find the unit vector W which points in the same direction as U .
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_(5) Write the vector equation of the line passing through (2,—3,6) with direction vector

) = <><c,ja,,'2©'> + t<a, b, >

"

<2,-3,6> *+ t<-5,8,3>
[<a-st,-3+%%, 6+ 3t

i/

Problem 2. (6 pts) Let @ = (—1,2,-2) and ¥ = (3,—4,0).
(a) Determine whether « and U are orthogonal.

TV= (-1+3)+ (2-74) + (-2-0)
= =R 8 = — 1l # (@)
Thus, T and 3 are Y_l_i_i_l"' Oc“‘H’WjuﬁaI.

(b) Find the cosine of the angle between ¥ and .
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i = (e = Jivara = VT = 3
101 = 3% =iter = Ja+ie = s =5




